Subject: Re: BAR_PLOT restricted to 60 element ARRAY??
Posted by Benjamin Luethi on Thu, 07 Jul 2005 14:52:36 GMT

View Forum Message <> Reply to Message

another possibility:
1. plot, data, psym=10
2. set every second element equal to O (data[0:*:2]=0)

3. oplot, data, psym=10

On Thu, 07 Jul 2005 16:15:16 +0200, liko2@o02.pl <liko2@02.pl> wrote:

Yghh...Turned out that histogram isnt good option, because for 2 exacly
the same numbers beside each other it creates one, wider bar and | need
two of them in such case(each value must be representated by one
bar)...Any other suggestions?
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